Functional Analysis, Approximation and Computation 7 (1) (2015), 47–55



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/faac

# COMMON FIXED POINTS BY TWO STEP ITERATIVE SCHEME FOR ASYMPTOTICALLY NONEXPANSIVE MAPPINGS

## M. R. Yadav a

<sup>a</sup> School of Studies in Mathematics, Pt.Ravishankar Shukla University, Raipur, Chhattisgarh (India)-492010

**Abstract.** In this paper, we introduce an iteration scheme for approximating common fixed points of two asymptotically nonexpansive mappings in the framework of a uniformly convex Banach spaces and established weak and strong convergence results for common fixed points of asymptotically nonexpansive mappings. The results obtained in this paper are generalizations of Khan [9]. Our result also illustrated with help of an example.

## 1. Introduction

Let E be a real Banach space, K be a nonempty, closed and convex subset of E. Throughout this paper,  $\mathbb{N}$  denotes the set of all positive integers and  $F(T) := \{x : Tx = x\}$  is the set of fixed point of T. A mapping  $T : K \to K$  is said to be asymptotically nonexpansive if for a sequence  $\{k_n\} \subset [1, \infty)$  with  $\lim_{n\to\infty} k_n = 1$ , if  $\|T^nx - T^ny\| \le k_n \|x - y\|$ , for all  $x, y \in K$  and for all  $n \in \mathbb{N}$ . This class of asymptotically nonexpansive mappings was introduced by Goebel and Kirk [7] in 1972. They proved that if K is a nonempty bounded closed convex subset of a uniformly convex Banach space E, then every asymptotically nonexpansive self-mapping E of E0 has a fixed point. The fixed point iteration process for asymptotically nonexpansive mapping in Banach spaces including Mann and Ishikawa iterations processes have been studied extensively by many authors; see ([1]-[20]).

The Picard and Mann [21] introduced the following iteration process:  $T: K \to K$  are defined by

$$\begin{cases}
 x_1 = x_0 \in K, \\
 x_{n+1} = T^n x_n
\end{cases}$$
(1)

for all  $n \in \mathbb{N}$  is called the Picard iteration process and

$$\begin{cases} x_1 = x_0 \in K, \\ x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n x_n, n \in \mathbb{N}, \end{cases}$$
 (2)

2010 Mathematics Subject Classification. Primary 47H17; Secondary 47H05, 47H10.

Keywords. Two-step iteration process; Nonexpansive mappings; Condition (A'); Opial's condition; Common fixed point.

Received: 20 June 2014; Accepted: 13 December 2014

Communicated by Dragan S. Djordjević

Email address: yadavmryadav@gmail.com (M. R.Yadav )

where  $\{\alpha_n\}$  is in (0,1) is called the Mann iteration process.

Recently Khan [9] defined two-step iteration procedure as:

$$\begin{cases} x_1 = x_0 \in K, \\ x_{n+1} = T^n[(1 - \beta_n)x_n + \beta_n T^n x_n], n \in \mathbb{N}, \end{cases}$$
 (3)

where  $\{\beta_n\}$  ∈ (0, 1).

The aim of this paper is to establish a new two-step iterative process and compute the common fixed points for two asymptotically nonexpansive mappings. Let  $S, T : K \to K$  be two asymptotically nonexpansive mappings. Then, our process read as follows:

$$\begin{cases} x_1 = x_0 \in K, \\ x_{n+1} = T^n[(1 - \beta_n)S^n x_n + \alpha_n T^n x_n], n \ge 1, \end{cases}$$
 (4)

where  $\{\beta_n\} \in [0,1]$ . However, iteration process (4) reduce to iteration process (3) when S = I, that is, the identity mapping.

Our purpose in the rest of the paper is to use the scheme (4) to prove weak and strong convergence results for approximating common fixed points of two asymptotically nonexpansive mappings.

#### 2. Preliminaries

Let  $X = \{x \in E : ||x|| = 1\}$  and  $E^*$  be the dual of E. The space E has :

(i) Gâteaux differentiable norm if

$$\lim_{t \to 0} \frac{||x + ty|| - ||x||}{t},$$

exists for each  $x, y \in K$ ;

(ii) Frèchet differentiable norm (see e.g. [23]) for each x in S, the above limit exists and is attained uniformly for y in S and in this case, it is also well-known that

$$\langle h, J(x) \rangle + \frac{1}{2} ||x||^2 \le \frac{1}{2} ||x + h||^2 \le \langle h, J(x) \rangle + \frac{1}{2} ||x||^2 + b(||h||)$$
 (5)

for all  $x, h \in E$ , where J is the Frèchet derivative of the function  $\frac{1}{2} ||.||^2$  at  $x \in E$ ,  $\langle ., . \rangle$  is the dual pairing between E and  $E^*$ , and b is an increasing function defined on  $[0, \infty)$  such that  $\lim_{t \to 0} \frac{b(t)}{t} = 0$ ; (iii) Opial's condition [24] if for any sequence  $\{x_n\}$  in E,  $x_n \to x$  implies that

$$\limsup_{n\to\infty} ||x_n - x|| < \limsup_{n\to\infty} ||x_n - y||,$$

for all  $y \in E$  with  $y \neq x$ .

Let us recall the following definitions.

**Definition 2.1.** Let K be a nonempty, closed and convex subset of Banach space E and  $T: K \to K$  be a mapping. Then, T is said to be asymptotically quasi-nonexpansive if there exists a sequence  $\{k_n\}_0^\infty$  in  $[1, +\infty)$  with  $\lim_{n \to +\infty} k_n = 1$  such that

$$||Tx_n - p|| \le k_n ||x - p||$$

for all  $x \in K$  and for all  $q \in F(T)$  (F(T) denotes the set of fixed points of T) and  $n \ge 1$ .

**Definition 2.2.** [11] . Let E be a Banach space, K be a nonempty, closed and convex subset of Banach space E, and  $T: K \to K$  be a nonexpansive mapping. Then I - T is said to be demi-closed at 0, if  $x_n \to x$  (converges weakly) and  $x_n - Tx_n \to 0$  (converges strongly), then it is implies that  $x \in K$  and Tx = x.

**Definition 2.3.** [6] . Let two mappings  $S,T:K\to K$ , where K is a subset of a normed space E, said to be satisfy **condition** (A') if there exists a nondecreasing function  $f:[0,\infty)\to[0,\infty)$  with f(0)=0, f(r)>0 for all  $r\in(0,\infty)$  such that either  $||x-Sx||\geq f(d(x,F))$  or  $||x-Tx||\geq f(d(x,F))$  for all  $x\in K$  where  $d(x,F)=\inf\{||x-p||:p\in F=F(S)\cap F(T)\}$ .

Now, we state the following useful lemma to prove our main results.

**Lemma 2.4.** [25]: If  $\{r_n\}$ ,  $\{t_n\}$  are two sequences of nonnegative real numbers such that  $r_{n+1} \leq (1+t_n)r_n$ ,  $n \geq 1$  and  $\sum_{n=1}^{\infty} t_n < \infty$ , then  $\lim_{n \to \infty} r_n$  exists.

**Lemma 2.5.** [14]: Let E be a uniformly convex Banach space and  $0 for all <math>n \in \mathbb{N}$ . Let  $\{x_n\}$  and  $\{y_n\}$  be two sequences of E such that  $\limsup_{n \to \infty} ||x_n|| \le r$ ,  $\limsup_{n \to \infty} n \to \infty$   $||y_n|| \le r$  and  $\lim_{n \to \infty} ||(1 - t_n)x_n + t_ny_n|| = r$  hold for some  $r \ge 0$ . Then  $\lim_{n \to \infty} ||x_n - y_n|| = 0$ .

# 3. Convergence Results

In this section, we prove weak and strong convergence theorems for two asymptotically nonexpansive mappings in the frame work of a uniformly convex Banach spaces.

**Theorem 3.1.** Let K be a nonempty, closed and convex subset of a uniformly convex Banach space E. Let  $S, T : K \to K$  be two asymptotically nonexpansive mappings with  $F(S) \cap F(T) \neq \phi$  and a sequence  $\{k_n\}$  of real numbers with  $k_n \geq 1$  and  $\sum_{n=1}^{\infty} (k_n^2 - 1) < \infty$ . Let  $\{x_n\}$  be the sequence defined by (4), where  $\beta_n$  is a sequence in  $[\epsilon, 1 - \epsilon]$  for some  $\epsilon \in (0, 1)$  satisfying:

$$||x_n - T^n x_n|| \le \lambda ||S^n x_n - T^n x_n||, \tag{6}$$

for all  $x, y \in K$ , where  $\lambda > 1$ , then

$$\lim_{n \to \infty} ||Sx_n - x_n|| = \lim_{n \to \infty} ||Tx_n - x_n|| = 0$$

*Proof.* Let  $p \in F(S) \cap F(T)$  and  $F(S) \cap F(T) \neq \phi$ . Put, for simplicity,  $y_n = (1 - \beta_n)S^nx_n + \beta_nT^nx_n$ . From (4), we have

$$||x_{n+1} - p|| = ||T^n y_n - p||$$

$$\leq k_n ||y_n - p||, \tag{7}$$

and,

$$||y_{n} - p|| = ||(1 - \beta_{n})S^{n}x_{n} + \beta_{n}T^{n}x_{n} - p||$$

$$\leq (1 - \beta_{n})||S^{n}x_{n} - p|| + \beta_{n}||T^{n}x_{n} - p||$$

$$\leq (1 - \beta_{n})k_{n}||x_{n} - p|| + \beta_{n}k_{n}||y_{n} - p||$$

$$\leq k_{n}||x_{n} - p||.$$
(8)

From (7) and (8), we have

$$||x_{n+1} - p|| \le k_n^2 ||x_n - p||$$
  
 
$$\le [1 + (k_n^2 - 1)||x_n - p||.$$

Hence by using Lemma 2.4,  $\lim_{n\to\infty} ||x_n-q||$  exists. Let  $\lim_{n\to\infty} ||x_n-p|| = c$  and suppose that c>0. Now, from **(8)**, we have

$$||y_n - p|| \le \limsup_{n \to \infty} ||x_n - p|| \le c,$$
 (9)

Note that,

$$||y_n - p|| = ||T^n x_n - p|| \le k_n ||x_n - p|| \le c.$$
(10)

Combining the estimates in (9) and (10), we have

$$||y_n - p|| = c. \tag{11}$$

Next, consider

$$c = ||y_n - p|| = ||(1 - \beta_n)S^n x_n + \beta_n T^n x_n - p||$$
  

$$\leq (1 - \beta_n)||S^n x_n - p|| + \beta_n ||T^n x_n - p||.$$

Applying Lemma 2.5, we have

$$\lim_{n \to \infty} ||S^n x_n - T^n x_n|| = 0.$$
 (12)

Using (6) and (12), it follows then that

$$||S^{n}x_{n} - x_{n}|| = ||S^{n}x_{n} - T^{n}x_{n}|| + ||T^{n}x_{n} - x_{n}||$$

$$\leq ||S^{n}x_{n} - T^{n}x_{n}|| + \lambda ||S^{n}x_{n} - T^{n}x_{n}||$$

$$\leq (1 + \lambda)||S^{n}x_{n} - T^{n}x_{n}||$$

$$\to 0 \text{ as } n \to \infty.$$

Taking limsup on both sides of the above inequality, we obtain

$$\lim_{n\to\infty}||S^nx_n-x_n||=0.$$

Now, note that

$$||T^n x_n - x_n|| \le ||T^n x_n - S^n x_n|| + ||S^n x_n - x_n||$$
  
 $\to 0 \text{ as } n \to \infty.$ 

which implies that

$$\lim_{n\to\infty}||T^nx_n-x_n||=0.$$

Now, by definition of  $\{x_n\}$ , we have

$$||x_{n+1} - T^n x_n|| \le k_n ||S^n x_n - T^n x_n||.$$

Taking limit as  $n \to \infty$  in both sides of the above inequality, we obtain

$$\lim_{n \to \infty} ||x_{n+1} - T^n x_n|| = 0. \tag{13}$$

Again note that,  $||x_{n+1} - S^n x_n|| \le ||x_{n+1} - T^n x_n|| + ||T^n x_n - S^n x_n||$ . Using (12) and (13), we obtain

$$\lim_{n \to \infty} ||x_{n+1} - S^n x_n|| = 0. \tag{14}$$

Also,  $||x_{n+1} - x_n|| \le ||x_{n+1} - T^n x_n|| + ||T^n x_n - x_n||$ , we get

$$\lim_{n \to \infty} ||x_{n+1} - x_n|| = 0,\tag{15}$$

and

$$||x_{n+1} - Sx_n|| \le ||x_{n+1} - S^{n+1}x_{n+1}|| + ||S^{n+1}x_{n+1} - S^{n+1}x_n|| + ||S^{n+1}x_n - Sx_{n+1}|| \le ||x_{n+1} - S^{n+1}x_{n+1}|| + k_{n+1}||x_{n+1} - x_n|| + k_1||S^nx_n - x_{n+1}||_{t}$$

It follows from (14) and (15), we have

$$\lim_{n\to\infty}||x_n-Sx_n||=0.$$

Similarly, we may show that

$$\lim_{n\to\infty}||x_n-Tx_n||=0.$$

This proof is completed.  $\Box$ 

**Example 3.2.** Let E be the real line with the usual norm |.| and suppose K = [0, 1]. Define  $S, T : K \to K$  by

$$Tx = \frac{2 - x}{2}$$

and

$$Sy = \frac{y+2}{4}$$

for all  $x, y \in K$ . Obviously both S and T are an asymptotically nonexpansive with the common fixed point  $\frac{2}{3}$  for all  $x, y \in K$ . Now we check that our condition  $||x - Sy|| \le \lambda ||Tx - Sx||$  for all  $x, y \in K$  is true. If  $x, y \in [0, 1]$  and  $\lambda > 1$ , then

$$|x - Sy| = |x - \frac{(y+2)}{4}|$$
  
=  $|\frac{4x - y - 2}{4}|$ ,

and

$$|Tx - Sy| = \left| \frac{2-x}{2} - \frac{y+2}{4} \right|$$
  
=  $\left| \frac{2x+y-2}{4} \right|$ .

It is clear that  $|\frac{4x-y-2}{4}| \le \lambda |\frac{2x+y-2}{4}|$ , where  $\lambda > 1$ , so  $|x-Sy| \le \lambda |Tx-Sx|$  exists, for all  $x,y \in K$ . Now, we check that S and T are quasi-nonexpansive type mappings. In fact, if  $x \in [0,1]$  and  $p=0 \in [0,1]$ , then

$$|Tx - p| = \left| \frac{2 - x}{2} - 0 \right| = \left| \frac{2 - x}{2} \right|$$
$$= \left| \frac{2 - x}{2} \right| \le |x| = |x - 0| = |x - p|,$$

that is

$$|Tx - p| \le |x - p|$$
.

Similarly, we can prove that

$$|Sx - p| \le |x - p|$$
.

So that S and T are quasi-nonexpansive type mappings.

**Lemma 3.3.** : Let K be a nonempty, closed and convex subset of a uniformly convex Banach space E. Let  $\{x_n\}$  be the sequence defined in Theorem (3.4) with  $F \neq \phi$ . Then, for any  $p_1, p_2 \in F$ ,  $\lim_{n \to \infty} \langle x_n, J(p_1 - p_2) \rangle$  exist, in particular,  $\langle p - q, J(p_1 - p_2) \rangle = 0$  for all  $p, q \in \omega_{\omega}(x_n)$ .

*Proof.* Take  $x = p_1 - p_2$ , with  $p_1 \neq p_2$  and  $h = t(x_n - p_1)$  in the inequality (5) to get:

$$\begin{split} \frac{1}{2} ||p_1 - p_2||^2 + t \langle x_n - p_1, J(p_1 - p_2) \rangle &\leq \frac{1}{2} ||tx_n + (1 - t)p_1 - p_2||^2 \\ &\leq \frac{1}{2} ||p_1 - p_2||^2 + t \langle x_n - p_1, J(p_1 - p_2) \rangle \\ &+ b(t||x_n - p_1||). \end{split}$$

As  $\sup_{n\geq 1} ||x_n - p_1|| \le M'$  for some M' > 0, it follows that

$$\begin{split} \frac{1}{2} \|p_1 - p_2\|^2 + t \lim \sup_{n \to \infty} \langle x_n - p_1, J(p_1 - p_2) \rangle \\ &\leq \frac{1}{2} \lim_{n \to \infty} \|tx_n + (1 - t)p_1 - p_2\|^2 \\ &\leq \frac{1}{2} \|p_1 - p_2\|^2 + b(tM') + t \lim_{n \to \infty} \inf \langle x_n - p_1, J(p_1 - p_2) \rangle. \end{split}$$

That is,

$$\limsup_{n\to\infty}\langle x_n-p_1,J(p_1-p_2)\rangle\leq \liminf_{n\to\infty}\langle x_n-p_1,J(p_1-p_2)\rangle+\frac{b(tM')}{tM'}M'.$$

If  $t \to 0$ , then  $\lim_{n \to \infty} \langle x_n - p_1, J(p_1 - p_2) \rangle$  exists for all  $p_1, p_2 \in F$ , in particular, we get

$$\langle p-1, J(p_1-p_2) \rangle = 0$$

for all  $p, q \in \omega_{\omega}(x_n)$ .  $\square$ 

**Theorem 3.4.** Let E be a uniformly convex Banach space satisfying Opial condition and K, T, S and  $\{x_n\}$  be taken as **Theorem 3.1.** If  $F(S) \cap F(T) \neq \phi$ , I - T and I - S are demiclosded at zero, then  $\{x_n\}$  converges weakly to a common fixed point of S and T.

*Proof.* Let  $p \in F(S) \cap F(T)$ , then as proved in **Theorem 3.1**  $\lim_{n \to \infty} ||x_n - p||$  exist. Since E is uniformly convex Banach space. Thus there exists subsequences  $\{x_{n_k}\} \subset \{x_n\}$  such that  $\{x_{n_k}\}$  converges weakly to  $z_1 \in K$ . From **Theorem 3.1**, we have

$$\lim_{n\to\infty}||Tx_{n_k}-x_{n_k}||=0,$$

and

$$\lim_{n \to \infty} ||Sx_{n_k} - x_{n_k}|| = 0.$$

Since I-T and I-S are demiclosed at zero, therefore  $Sz_1=z_1$ . Similarly  $Tz_1=z_1$ . Finally, we prove that  $\{x_n\}$  converges weakly to  $z_1$ . Let on contrary that there exists a subsequence  $\{x_{n_i}\}\subset \{x_n\}$  and  $\{x_{n_j}\}\subset \{x_n\}$  such that  $\{x_{n_j}\}$  converges weakly to  $z_2\in K$  and  $z_1\neq z_2$ . Again in the same way, we can prove that  $z_2\in F(S)\cap F(T)$ . From **Theorem 3.1** the limits  $\lim_{n\to\infty}\|x_n-z_1\|$  and  $\lim_{n\to\infty}\|x_n-z_2\|$  exists. Suppose that  $z_1\neq z_2$ , then by the Opial's condition, we get

$$\lim_{n \to \infty} ||x_n - z_1|| = \lim_{n_i \to \infty} ||x_{n_i} - z_1|| < \lim_{n_i \to \infty} ||x_{n_i} - z_2||$$

$$= \lim_{n \to \infty} ||x_n - z_2|| = \lim_{n_j \to \infty} ||x_{n_j} - z_2||$$

$$< \lim_{n_i \to \infty} ||x_{n_j} - z_1|| = \lim_{n \to \infty} ||x_n - z_1||.$$

This is a contradiction so  $z_1 = z_2$ . Hence  $\{x_n\}$  converges weakly to a common fixed point of T and S.  $\square$ 

**Theorem 3.5.** Let E be a Banach space and K, S, T, F,  $\{x_n\}$  be as in Lemma 3.1. If  $F(T) \neq \phi$ , then  $\{x_n\}$  converges strongly to a common fixed point of T if and only if  $\liminf_{n\to\infty} d(x_n, F) = 0$  where  $d(x, F) = \inf\{||x - p|| : p \in F\}$ .

*Proof.* Necessity is obvious. Conversely, suppose that  $\liminf_{n\to\infty} d(x_n, F) = 0$ . As in the proof of Lemma 3.1, we have

$$||x_{n+1} - p|| \le k_n ||x_n - p||.$$

This gives

$$||x_{n+1} - F|| \le k_n ||x_n - F||.$$

So that  $\lim_{n\to\infty} d(x_n, F)$  exists. But by hypothesis  $\liminf_{n\to\infty} d(x_n, F)$ , so we must have  $\lim_{n\to\infty} d(x_n, F) = 0$ .

Next, we show that  $\{x_n\}$  is a Cauchy sequence in K. Suppose  $\epsilon > 0$  be given. Since  $\lim_{n \to \infty} d(x_n, F) = 0$ , there exists  $n_0$  in N such that for all  $n \ge n_0$ , we get  $d(x_n, F) < \frac{\epsilon}{2}$ . In particular,  $\inf\{||x_{n_0} - p|| : p \in F\} < \frac{\epsilon}{2}$ . There must exist  $p^* \in F$  such that  $||x_{n_0} - p^*|| < \frac{\epsilon}{2}$ . Now for  $n, m \ge n_0$ , we have

$$||n_{n+m} - x_n|| \le ||n_{n+m} - p^*|| + ||p^* - x_n||$$
  
 $\le 2||p^* - x_n||$   
 $\le 2\frac{\epsilon}{2} = \epsilon.$ 

Hence  $\{x_n\}$  is a Cauchy sequence in a closed subset K of a Banach space E, therefore it must converge in K. Suppose  $\lim_{n\to\infty} x_n = q$ . Now  $\lim_{n\to\infty} d(x_n, F) = 0$  gives that d(x, F) = 0. It is well-known that F is closed and so  $q \in F$ .  $\square$ 

Using **Theorem 3.5**, we obtain a strong convergence theorem of the iteration scheme (4) under the **condition** (A') as below:

**Theorem 3.6.** Let E be a uniformly convex Banach space and K, S, T, , F,  $\{x_n\}$  be as in **Theorem 3.1**. Let S, T satisfy the **condition** (A') and  $F \neq \phi$ . Then  $\{x_n\}$  converges strongly to a point of F.

*Proof.* We proved in **Theorem 3.1**, i.e.

$$\lim_{n \to \infty} ||Sx_n - x_n|| = 0 = \lim_{n \to \infty} ||Tx_n - x_n||$$

Then from the definition of **condition** (A'), we obtain

$$\lim_{n \to \infty} f(d(x_n, F)) \le \lim_{n \to \infty} ||Tx_n - x_n|| = 0$$

or

$$\lim_{n\to\infty} f(d(x_n, F)) \le \lim_{n\to\infty} ||Sx_n - x_n|| = 0.$$

In above cases, we get

$$\lim_{n\to\infty}f(d(x_n,F))=0.$$

But  $f:[0,\infty)\to[0,\infty)$  is a nondecreasing function satisfying f(0)=0, f(r)>0 for all  $r\in(0,\infty)$ , so that we get

$$\lim_{n\to\infty}d(x_n,F)=0.$$

All the conditions of **Theorem 3.5** are satisfied, therefore by its conclusion  $\{x_n\}$  converges to strongly to a fixed point of F.

We now state two strong convergence theorems. The mapping  $T: K \to K$  with  $F(T) \neq \phi$  is said to satisfy condition (A) [22] if there is a nondecreasing function  $f: [0, \infty) \to [0, \infty)$  with f(0) = 0 and f(r) > 0 for all  $r \in (0, \infty)$  such that for all  $x \in K$ ,  $||x - Tx|| \ge d(x, F(T))$ .

**Theorem 3.7.** Let E be a uniformly convex Banach space and K a nonempty, closed, convex subset of E which is also a asymptotically nonexpansive retract of E. Let  $T: K \to K$  be a asymptotically nonexpansive mapping with  $F(T) \neq \emptyset$ . Let  $\{\beta_n\}$  be sequences in  $[\epsilon, 1 - \epsilon]$  for some  $\epsilon \in (0, 1)$ . From arbitrary  $x_1 \in K$ , define the sequence  $\{x_n\}$  by the recursion (3). Suppose T satisfies condition (A). Then  $\{x_n\}$  converges strongly to some fixed point of T.

**Theorem 3.8.** Let E be a uniformly convex Banach space and K a nonempty, closed, convex subset of E which is also a asymptotically nonexpansive retract of E. Let  $T: K \to K$  be a asymptotically nonexpansive mapping with  $F(T) \neq \emptyset$ . Let  $\{\beta_n\}$  be sequences in  $[\epsilon, 1 - \epsilon]$  for some  $\epsilon \in (0, 1)$ . From arbitrary  $x_1 \in K$ , define the sequence  $\{x_n\}$  by the recursion (3). Suppose that T(K) is contained in a compact subset of E. Then  $\{x_n\}$  converges strongly to some fixed point of T.

## Acknowledgments

The author would like to express their gratitude to the referee for his (or her) valuable comments and suggested that led to a significant improvement of the manuscript and the handling Editor in Chief, Prof. Dragan Djordjevic for his helpful remarks and suggestions that allowed him to improve the original paper.

### References

- [1] Y.J. Cho, H.Y. Zhou and G. Guo, Weak and strong convergence theorems for three-step iterations with errors for asymptotically nonexpansive mapping, Comput. Math. Appl. 47 (2004) 707–717.
- [2] G. Das, and J.P. Debta, Fixed points of quasi-nonexpansive mappings, Indian J. Pure. Appl. Math. 17 (1986) 1263–1269.
- [3] L.C. Deng, P. Cubiotti and J.C. Yao, Approximation of common fixed points of families of nonexpansive mappings, Taiwanese J. Math. 12(2008) 487–500.
- [4] LC. Deng, , P. Cubiotti and J.C. Yao, An implicit iteration scheme for monotone variational inequalities and fixed point problems, Nonlinear Anal. 69 (2008) 2445–2457.
- [5] L.C. Deng, S. Schaible and J.C. Yao, Implicit iteration scheme with pertarbed mapping for equilibrium problems and fixed point problems of finetely many nonexpansive mapping, J. Optim. Theory Appl. 139 (2008) 403–418.
- [6] H. Fukhar-ud-din, and S.H. Khan, Convergence of iterate with errors of asymptotically quasi-nonexpansive mappings and application, J. Math. Anal. Appl. 328 (2007) 821–829.
- [7] K. Goebel, and W.A. Kirk, A fixed point theorem for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc. 35 (1972) 171–174.
- [8] W. Guo, Y.J. Cho, and W. Guo, Convergence theorems for mixed type asymptotically nonexpansive mappings, Fixed Point Theory and Applications (2012) 201–224.
- [9] S.H. Khan, A Picard-Mann hybrid iterative process, Fixed Point Theory and Applications (2013) 2013:69.
- [10] S.H. Khan, Y.J. Cho and M. Abbas, Convergence to common fixed points by a modified iteration process, J. Appl. Math. and Comput. doi:10.1007/s12190-010-0381.
- [11] S.H. Khan, and W. Takahashi, Approximating common fixed points of two asymptotically nonexpansive mappings, Sci. Math. Jpn. 53(1)(2001) 143–148.
- [12] K. Nammanee, M.A. Noor and S. Suantai, Convergence criteria of modifies Noor iteration with errors for asymptotically nonexpansive mappings, J. Math. Anal. Appl. 4 (2006) 320–334.
- [13] W.Nisrakoo and S. Saejung, A new three-step fixed point iteration scheme for asymptotically nonexpansive mappings, Comput. Math. Appl. 18 (2006) 1026–1034.
- [14] J. Schu, Weak and strong convergence to fixed points of asymptotically nonexpansive mappings, Bull. Aust. Math. Soc. 43 (1991) 153–159.
- [15] J. Schu, Iterative constructions of fixed points of asymptotically nonexpansive mappings, J. Math. Anal. Appl. 158 (1991) 407–413.
- [16] W. Takahashi and G.E. Kim , Approximating fixed points of nonexpansive mappings in Banach spaces, Math. Japon. 48 (1) (1998) 1–9.
- [17] W. Takahashi and T. Tamura, Limit theorems of operators by convex combinaitons of nonexpansive retractions in Banach spaces, J. Approx. Theory. 91(3) (1997) 386–397.
- [18] W. Takahashi, Iterative methods for approximation of fixed points and their applications, J. Oper. Res. Soc. Jpn. 43(1) (2000) 87–108.
- [19] K.K. Tan and H.K. Xu, Zpproximating fixed point of nonexpansive mappins by Ishikawa iteration process, J. Math. Anal. Appl. 178 (1993) 301–308.

- [20] H.K. Xu and R.G. Ori, An implicit iteration process for nonexpansive mappings, Numeric Functional Analysis and optimization, 22 (5-6) (2001) 707–773.
- [21] W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953) 506–510.
- [22] H.F. Senter and W.G. Dotson, Approximating fixed points of nonexpansive mappings, Proc. Amer. Math. Soc. 44 (1974) 375–380. [23] W. Takahashi and T. Tamura, Convergence theorems for a pair of nonexpansive mappings, J. Convex Anal. 5(1)(1998) 45–56.
- [24] Z. Opial, Weak and convergence of successive approximations for nonexpansive mapping, Bull. Amer. Math. Soc. 73 (1967) 591–597.
- [25] H. Zhou, R.P. Agarwal, Y.J. Cho and Y.S. Kim , Nonexpansive mappings and iterative methods in uniformly convex Banach spaces, Georgian Mathematical Journal. 9 (3) (2002) 591-600.